Geometry Name

Find the errors in each proof and correct them. )

1. Given: AB//CD; m/1=m/2
Prove: m/3=m/4

1 o\/4

A C

Statements Reasons

1. E//C—D; mZl=m/2 |l. Given
2. If lines parallel, then alt. ext. angles
2. mL2=mL3}

(alt. ext. angles thm.)
3. mLl=m/3 3. Linear Pair Postulate

4 m Zl —m Z 4 4. If lines parallel, then corr. angles =

(corr angles post)

5. mLl=mZ5 5. Substitution Property
B
— A
Prove: AC//EF /3
4/6
7/E
Statements Reasons

1. AB//CD; m/1=m26 |l. Given

2. mLl=mL2 2. Substitution Property

3 m L 2 =m Z 6 3. If lines parallel, then corr. angles = (corr

4. If lines //, then s.s. int. angles supp. (ss.
int.
angles thm.)

p—

angles post)
4. AC//EF




3. Given: AB//DE; m/1=m/?2 B
Prove: mZ3=m/4

C
A
Statements Reasons
1. AB//DE: m/1=m/2 |1. Given
2. mL2=m”Z3 2. Linear Pair Postulate

3. If lines parallel, then alt. int. angles

3. mLl=mA3F

(alt int angles thm.)

4. msLl=m/2 4. Substitution Property

5. m/3=m/4 5. Substitution Property




